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I ' 	 (l)f.ir~ ~ .....'Ii. ro .(simple linear regression)? (5%) 

(2)tt~ WAA .....,li.ro.~tt~i<. 0 (3%) 

(3)~tl!H}Htm AA .....'Ii. ro.a:f ' ft1:&. 1!l1l(dependent variable) , Ii 1!l1l(independent variable)a 

~.£-it(residuals)~Is.*1&t~ 0 (8%) 

(4},f£.1tm AAltl"'li.ro.1tl1f~;w , 1b~i!l!tt~1I1](scatterplot)1 M1:&.I!Jjl1f lil!l1l"~-it€t-J 
1t:"Ii'/t:Jtj , ~t VJ. ~~ a 1I1.;r.i! H}Hr.tt~ III ~1tl1f i: J6 (4%) 

(5)1f VJ. ~~a III .;r.l! IlA ' {£.1!" Wro. i<. ~*tt-it1t 

0 

' -ko 10J *Ht ~.£ -it €t-J tt~ III ' VJ. ~ jjtlJ ~ .£ 
1B:tt 1jn-~Is.*~.H~ 0 (5%) 

2, 	(1 )~t VJ. ~~ a 1Il.;r.i! IlA :1:" Ii ..::..;J~:tM.-~*ftit", VJ. *-,A.. 0 ~~~~ I!1t.4.t- 0 (7%) 

~md~~i.#*?~M~.4~~tt.~~? ~~ 

(3)vJ.~+\i.#**-.ffl":I:" 20 If-1t~,A.. 0 ' ~~J141r41r.~A.4:1:"€t-J~1t.;tlt-al}!f~A. 

•• ' 1tr"'~1.l(.i.#*€t-J.~ ~-ko1OJt!Jit? (10%) 

3 ' 	 (1)1tt1Trt Jt tIJtit.(analytic hierarchy processH1= "ltIJt €t-J ~ -1lJ] ~~ttJt.!r..Jt AtIUl if. · ~itvJ. 
1tl1frtJttIJt**-~~*"~••n~~~*.€t-J~.*~' •• W~-~~€t-JJtAtIUl.it. 
!I] (10%)0 

(2)1t*JT~JtaJt*€t-J~tp-.~~~-it,Ii.~~' ttAAl!-it'Ii.~~~~ €t-J (7%)0 

(3)~41*1t*JT~JtaJt*~,~t*f;"~J.t '1f.~f1:J:..1OJJ.i#»J~.t.;t~4? (8%) 

4, 	j!B~1i fh~(cellularautomata)ttb1f-~.~*~ ,tt~ '4hl!.~,"~*€t-J.I.Jl.~- , ~:l.*~~ 
73 tt tb*l-.i<.€t-J#t-rM~ll.. ' 4i-111l#t-r ?rf~~-1lJ]~~(cell) , Jl4i:100~~?r. ~~~(state) , 

4i:100 ~~~~~ iliJB It] €t-J~!B ~~~ .«-(neighbourhood) , ~~ S!) Hi( ~ t-1:&.a:f Ma Jifh/lj{lj (rule) 
ifjJ ~t~ 0 

~~-~~lifh~'~ • .«-~~I-ko!l]lM.;r.'.#-~~i'~~.«-~I~•• l~.~~ 
)]80 

http:4hl!.~,"~*�t-J.I.Jl
http:W~-~~�t-JJtAtIUl.it


$i~: 233 .1L...liJ.*..-O-....ll..±1J1«i!!.-M.-M.Jl 
-*PJT~ll~U: tf!nTf~tJlJ~-*Ef3 ~ 
~f5tf-+§: ml!l5:ttJT1J~ ~1i.\8Jlij : 0225 • !Ii~ : 1 

-1tibt~tt~~A.~r : 
t : ~M 0 

Di{t) : jmM!. i l£~ra' t ~#k~ · Di{t)= 0 or 1 0 0 VA ~ a ::?~*'~ · 1 vk_it9~::?~:.l~ 0 

O~:~M!.il£~Mt~~.~t,~~.l~a§o 

-1t §. tH/LJt'j ~ r : 
if 0 i{t)<2, then Di{t+1)= 0 

if 0 j{t)=2, then Dj{t+1)= Di{t) 

if 0 j{t)=3, then Di{t+1)= 1 

if Oi{t»3, then Dj{t+l)= 0 

(1)'t t=0 ~ • Jl:1:.~M!. ~ tI;.~~a~ III 2 JV(iF ' u:.~~ t=5 ~ , Jl:1:.~M!. ~ tI;.~~a ' tt~~~ 
~AIi*~~$.*~J:. 0 (15%) 


